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They are testifying against me now — 32 97770RPT R NN

OVERVIEW

The R states that if we maintain X123 *7w»9, if the testimony regarding the three
mm a1 of the ox were delivered in one day the owner will not be required to pay a
v"1 for the following N1, since he can claim, ‘I was only warned this one time’.
mooIn discusses the status of the 11 he pays for the future ninaa.

nooIN asks:
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The >'"'1 is astounded! For notwithstanding that he may not be considered a 7317,
nevertheless the 711 °x1 he will pay for the future N1 will not be considered as a
fine, but rather it will be a monetary payment” even’ according to the one who

maintains that the half-damage which a on pays is a fine -
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Foe once he gored three nima: the ox lost his presumption of being guarded.

N1B0IN answers:
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And it seems that the answer is that we cannot differentiate in the payment of

1''1; so since in one place it is a 81p (by a ‘regular’ an), it is a ©1p in all instances -
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! Previously (on &,10) there is a dispute whether the half 71 which a an pays is monetary (the view of ¥95 27), or it is
punitive (Y¥17° 277 7°72 X7 27). 9" maintains that an ox is not considered guarded (*»»p MW npma W?) and
therefore by all rights the owner should pay a w"1, but the 770 took pity on the owner for the first three n7°a1 and
allowed him pay only a 1"1. However "172 1" maintains that an ox is *»»p 7w npina, and therefore the owner
should not pay anything, but the 7710 imposed this fine of a 1"n to encourage the owner to provide additional
guarding for his animal. The difference whether it is 1%n or 01p is in a case where the owner admitted that his ox
gored (when it was a on). If X1van Xpr1 X329 he has to pay, however if Xo1p Xp11 X329, the rule is 7w 012 77, Our
mooIn argues that in this case where we know he gored three times already, so even though he is not considered a
7y (if we maintain X123 >7Ww"%), nevertheless the 1'n will be considered &1 according to everyone, even the 7"n
who maintains the by a (regular) on it is X0Ip 11 Xa79.

% The question of nvON is that the X3 there (2,70) states that (even according to the RoIp Xpr1 X325 7"») there is a
case where X111 Xpr1 X329 and that is by n1717x. The inference from that &3 is that it is only by n1M11% that Rpra X9
X111, but according to NMooIN question there is another case by 17 where X111 Rprl X329, namely in this case where
the (three) 07y °n3 came NNX nN23. See 0", See 72N WM XK # 68 and onwards for alternate explanations.

? See “Thinking it over’ # 1.

* The only reason °"172 "1 maintains X0Ip XpT1 K329 is because *»»p MW npma oMW ono (they are docile by
nature); however this ox has proven that he is not 2w npma.

> The payment of T2y 5w ow5w is deemed a 03P since the same amount is paid regardless of the value of the 7ay. If it
would be 777, the payment would be commensurate with the value of the 72y.
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As we find regarding the thirty 0°%pw that need to be paid to the master if the ox
killed a slave (>3v1> 72v), that even if the slave is worth exactly thirty o°>pw, no
less and no more® -
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Nevertheless it is a 01 payment, so if the master admits that his ox killed the 72y,

he will be exempt from paying the 72v 5w Dw5Ww, since Mo 01p2 77%. The same is true by
172 that all payments of 1" are always deemed to be a 01p, regardless whether in a particular case
(as ours) the ox is not deemed to be M»W NpnA.

SUMMARY
Every 1"n of 177 (according to the Roip Xpr1 Ra?0 7"n) as well as every 72y Hw owHw
1s considered a 01, even if there is reason to consider it 7.

THINKING IT OVER

1. m»doIn writes that ‘even’ according to the R0Ip X1l Xa?9 7"n it will not be a o1p.’
What does mpoin mean with the word ‘even’; the question is only according to the
RDIP KPT1 X279 7"n (obviously the one who maintains X117 X1l X399 it certainly will
not be a 01p)?1*

2. Seemingly the comparison of 1"n to 72y does not seem appropriate. We know
that by an 72¥ one is required to pay 2°%pw "> regardless of the value of the 7av. It is
therefore understood that this payment is a 01p. The fact that one 72y is worth
does not change the purpose of the payment.” However here the reason the 1"f is a
01p is only because the ox is 7w NP2, once however we know the ox is not
7w NP2, how can we say it is a 01p, he has to pay 1nn because he is not NP2
w0

% In this case it would seem to be a monetary payment, for he is paying the owner the full value of his 72v. See
‘Thinking it over’ # 2.

7 See footnote # 3.

8 See 7207 won XN # 71.

? See footnote # 6

10 See yrawnR 1R MY 1R M
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